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1. WO FyummEr =R #m.

(31) AT A IR J[ATU[H HISHT FHIONA Bl AT 2N IS S2MTd IS 8 WS
SR IATTIET HHT 3T,

() TRATE W LI IATE S Y ABIT IS UL el SR 3T,

IR [T 3T

T 39T
(1) 37 %eh ) ¥ Bh
(3) 37 3O § (4) ¥ 9 LT ARl

Consider the following statement.

(a) Countries with the highest level of foreign direct investment have a gross domestic
product less than the gross national product.

(b) India's gross domestic product is slightly higher than gross national product.

Identity correct statements.

Answer options

(1) a only (2) b only

(3)aand b (4) None of the above

2. IS WTHTBUh ST T ATed?

CHRIEEE] @) o9

() ST (@) T

TR I

(1) 3 h (2) 3T AT &

(3) TR TS (4) TEGURT Tl ATEr
Which of following are not the factors of production?

(a) Capital (b) Labour

(c) Land (d) Profit

Answer options :

(1) a only (2) aand b

(3) All of the above (4) None of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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3. SIS ThAd wguTst
(1) e Thd - TIsT & - I (2) e Thad + STeT HT + e
(3) g fohod - e + ATTHT F (4) g fhd + 3EM - AUTHT F

Market Price is,

(1) Factor cost - Indirect taxes - subsidies
(2) Factor cost + Indirect taxes + Subsidies

(3) Factor cost - Subsidies + Indirect taxes

(4) Factor cost + Subsidies - Indirect Taxes.

4., Groe uEET RER w1

(37) M AT A<hl [haT IR B R gde ST,

@) TS ITATT AR fohar T TS AR 9aes Sid el

I far= 31esET,
(1) 31 ™th (2) ¥ %h
OEEEKED (4) ¥ T Irer ARl

Consider the following statement.

(a) Nationality of individuals or organizations is taken into account in domestic income.
(b) National income does not take into account the nationality of individuals or organisations.
Identify the correct statements.

(1) a only (2) b only

(3) a and b both (4) a and b none of them

5. P 3EH ANSTUATSAT fohall Uegdl TTRd?
M1 () 3
(3) 2 4) 4
How many methods to measure National income?
(D1 (2) 3
(3) 2 4) 4

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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6. RAI™ GDP =T €= Heam 3 Fra [aamT Hiora?
(30 vt e fRxar waifis afeer .
@) JaT ST BT 2009-10 T 2019-20 IT FHIAId IedT RS IR,
T IR
(1) 37 I°g ) ¥ Ing
(3) 37 3T (4) S8 TNy

Considering India's GDP which statement/s is/are incorrect.

(a) Primary sector has the highest share in India's GDP.

(b) Service sector's share has continued to grow form 2009-10 to 2019-20..
Answer options

(1) a correct (2) b correct

(3) a incorrect (4) Both incorrect

7. 2015 9T e AiREAHr TRAT (CSO) B Jodardd (GVA) HISTOITehRdTl vl Tehed=T
IIIRA?

(1) GVA Factor cost (2) GVA Basic price

(3) GVA Market price 4 CRUCEET Tehel ATl

From 2015 central statistics office uses which concept to measure Gross value added?
(1) GVA Factor cost (2) GVA Basic price

(3) GVA Market price (4) None of the above

8. WoNe [uMET [aR .
(37) I Tl O & Waie M e Jeal q2Iad.
@) 3T Tl I T AT YW M Ieae S,

I [T HIoTa?

T 39N

(1) 31 ™th (2) ¥ B<h
OEEEKE (4) 3T AR T TR

Consider the following statements.

(a) Production method shows net value increase of goods and services.

(b) The income method shows the basic domestic income of goods and services
Identify the correct

Answer Options:

(1) Only a (2) Only b

(3) Both correct (4) Both incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



6 T A6 IRAR
9.  SIHST 2012 FH ITHNT WA 24 HIeT, JAGU[H T 16 Hicl, ZTAATAT TeheUdR 20 Hiel 9
qo= faTd 10 ST oY AT 12 SIS gl d¥ WS SZMadTd 3aaTe fhdl e?
(1) 62 (2) 53
(3) 58 4) 50
Suppose in 2012 consumption expenditure was 24 Cr. investment expenditure was 16 cr,

expenditure on government projects was 20 cr and export was of 10 cr and imports were
12 cr then what is the gross domestic product?

(1) 62 (2) 53

(3) 58 4) 50

10.  SITAT AEMA ITATAT WIAGUh! HIOTAT TRATINT IIMAT PRI TGS HATTH)
ITHT AT heAl STTa?
(1) THOT ST IedTad (2) THOT AL IcdTaA
(3) M= 2T IATeT @) TR didie Fee S3idrd 3dre

Which of the following measures of the national income of a country includes the income

earned by citizens of a country from abroad?
(1) Gross Domestic Product

(2) Gross National Product

(3) Net Domestic Product

(4) Net Domestic Product at Constant Price

11. (30 AT &=m=T O fohal I SUaR o63dl Id ATl 3731 &is=r JHE3 I 39
qISTATT Shl STTd ATal.
@) T[T ATIRRATST ATIRS ST ST STATHT Nfdehesar [aaR haT Sid ATer,
T 3R
(1) 3T TR T I
(2) T T F Trel SRR 3T & AT [TUH 37 HIROT 38
(3) 3 I § TR
(4) =21 I
(@) Sectors which cannot be converted into money or currency are not included in the
calculation of national income.

(b) Foods/grains used for domestic consumption is not considered economically.
Answer option

(1) a correct, b incorrect

(2) a and b both correct, a is the reason of statement b.

(3) a incorrect, b correct

(4) Both incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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12. GISIHTH HITAT T2 WS AL e ezl Jieam ATaHT THIGE Hal 3Te?

(1) \Rd 2) I
(3) ~TUTeS (4) ST
Which of the following country included gross national happiness in their constitution?
(1) India (2) China
(3) Nepal (4) Bhutan
13. TSI T TR YTIAT ST TS
(1) ST 2005 (2) ST 2007
(3) ¥ 1951 (4) 3T 1949

National statistical commission was formed on?
(1) June 2005

(3) May 1951

(2) June 2007
(4) August 1949

14. IS HT THR HIOTA?
(37) 9T IOH
@) IR geh 39T
TIRIT I
(1) 3 th
OEEEKE
What are the basic types of income?
(a) Factor income
(b) Non-factor income
Answer options
(1) a only
(3) a and b both

) ¥ Bh

4) 7 T T ST e

(2) b only

(4) a and both not

T HHTETS! ST /| SPACE FOR ROUGH WORK

P.T.O.
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15. Eols [TuHET e &
(37) SIMT 39T OIS eh HATHIAT UTH 2IOTR °Uceh 3.
@) BT 39 TS AT a9 IRMAIRIET H 2R ges 3.
v /A RoTdr
(1) 37 h (2) ¥ h

OEEEKEEIH] 4) T T F IR

Consider the following statements.

(a) Domestic income means the factor income received by residents only.

(b) National income means the factor income received both by residents and non residents.
Identify the correct statements.

(1) a only (2) b only

(3) Both are incorrect (4) Both correct

16. Wola [TumET =R &
(30) I 2006 ATST 2005 FTST 8T GDP HISTAT.
@) ARATT &Rd GDP IS ¥R 9T IRTTHT & Al IO hoard ol
Iy [Fa 3fiesaT.

T 39X
(1) 3T Hh ) T HH
OEEKK (4) 3 T & SET AR

Consider the following statements.

(a) China calculated green GDP for year 2005 in 2006.

(b) Sir Parth Dasgupta committee was formed to calculate Green GDP in India.
Identify the correct statements.

Answer option

(1) a only (2) b only

(3) a and b both (4) None of the above

17. Gt AT SThedrT qrsTogr=T TINT TUF HioTT ST hail?

(1) FERTE (2) TR T
©REEIL] (4) TTraT

Which state first experimented with statistics of natural resources?
(1) Maharashtra (2) Himachal Pradesh
(3) Sikkim (4) Goa

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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18. WSIGUHT HIVTAT Tegdl= AISTohes 3T & do-- TeRed 3TT?

(1) 3= Tesd (2) AT Tegd

(3) TeAATIT Tegid 4) T dEd

Income calculated by following method is relatively error free?

(1) Income method (2) Production method
(3) Value added method (4) Expenditure method

19. WSIGUHT HIOTAT Tegdla JTTTRIAS AT TSHS Texd The hid?

(37) IATET Tegd @) T Tegd
@) 39 Tead ) Jeaarad desd
T 3N

(1) ®h & (2) WTh 30T &
(3) 3T 30T OEEK]

Which of the following method reveals the comparative importance of sectors in the

economy?
(a) Production method (b) Expenditure method
(c) Income method (d) Value added method

Answer option
(1) Only b (2) Only b and ¢

(3) a and d (49)aand b

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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20.  ANT ST .
I ASTOATET Tegd &l
(37) I Tegd (i) 7B FTTRHTATS
@) T Tegd (i) TTHIOT STRTATATS
@) 399 Tead (i) FET =TS

(®) I VAT UEd (iv) I T IJURT SIS
(CIHIC ) BN G O) B )

(1) iv ii iii i

(2) iii v ii i

3) iv i iii ii

4 ii iii iv i

Match the following pairs.

Methods (Income Measure) Sectors

(a) Production method (i) For Urban construction

(b) Expenditure method (ii) For Rural construction

(c) Income method (iii) For Service sector

(d) Object flow method (iv) For agriculture and manufacturing
sector

@ ® (© @

1) iv i i i
@) i iv i i
(3) iv i i i
@) i i iv i

21.  WTHTSTdR I [T 3fioswT.

(37) IS IS TTSTRHTTAT AISTdTd.

@) IS 3T Teh [hAAIST Jistard.

I 3R

(1) 3T %th 2) ¥ HTH

(3) 3F anfor & (4) 3T T F Sl ARl

Which of the following statements are correct?

(a) National product measures at market price.

(b) National income measures at factor price.

Answer option

(1) a only (2) b only

(3)aand b (4) None of a and b

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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22. WO AU AR @
(31) 2004-05 & TR I . JYaIH AT RIARUAERT WHRS T,
@) 2011-12  ATIRYA Y ATHISTT AR[HT AHATAT RIBRATEET IR 0.
g 9 STeeT.

q??ﬁ'&ﬁ?ﬁi‘:
NEEEKEERIE DEREE
VEEL 4) T T T e aT

Consider the following statements.

(a) 2004-05 is the base year, accepted on the recommendation of the K. Sundaram committee.
(b) 2011-12 is the base year, accepted on the recommendation of the Abhijit Sengupta
committee.

Identify correct statements.

(1) Both incorrect (2) a correct

(3) B correct (4) Both correct

23. RS I WISIAUhl Hamd [TLT Fadr?

(1) MEEE F SRISFIRE ) TT® T

(3) STATAT AT (4) TR ATET

Which of the following is explained by Lorentz curve?

(1) Inflation and unemployment (2) Economic growth
(3) Income inequality (4) None of the above

24. YOG g9 AT WISTSUh! STl H3T Higs?

(1) BRT IS I (2) AEHIHE AT Iad
(3) ST IaH (4) THUT IFR 39
Which concept was proposed by Pranav Vardhan from following?

(1) Green National income (2) Universal Basic income
(3) National income (4) Total Domestic income

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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25. MRATY Y AP IS HIOTAT IRATOMA HISTAT?
@37 ifas afRemT
@) TEHARIT
CIEURERIEGIMIG
R ISR
(HIATT (2) ¥ Bhth
(3) & Hth (4) TNSURT T
India's gross national product is measured in which dimensions?
(a) Physical dimensions
(b) In percentage
(c) Economic dimensions
Answer options
(1) aand b (2) b only
(3) ¢ only (4) All of the above

26. AT AT &

Bkl IS IAF

(37) TETHTS ARIS (i) 1942 HIT
@ AT fewr (i) 1067 ShHieT
@) Thes PRI (i) 390 IS

(®) aifear T S (iv) 340 ST
G & & e

(1) iv iii i iii

(2) iv  iii ii i

(3) ii iv iii i

4 i ii iii iv

Match the pairs.

Person National Income

(a) Dadabhai Naoroji (i) 1942 crore

(b) William Digbi (i) 1067 crore

(c) Findlay Shirras (iii) 390 crore

(d) Wadia and Joshi (iv) 340 crore
@ ® © @

(1) iv  iii i iii

(2) iv iii ii i

3) ii iv iii i

4 i ii iii iv

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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27.  ETAIGHUSDT HIOTAT HeheqT TS IAH" AT Thod-21 Aadid 3Mad?
(3n) wTeT
@) starce
() TATET
T A
(1) 37 3TfoT & (2) & WTh
(3) 31 %th (4) TIGIHRT T4
Which of the following concepts are related to the National income?
(a) Stock
(b) Partial
(c) Flow
Answer option
(1) aand b (2) c only

(3) a only (4) All of the above

28.  ITET IS ANSTAMT WIAIGUEhT hIOTAT JSII AATEId?

(1) AhoIATHS TSI (2) AR TSI
OEEEKE (4) ¥ 9 9 LT e

Which of the following is/are not a problem while calculating national income?
(1) Conceptual difficulties (2) Statistical difficulties

(3) Both a and b (4) Both a and b are not

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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29.  IRY STredT S[eT.

qdh [SIEED

(31) SRS Y3 3Th THIHE

ZeRe 3fvg (i) IR

@) HUeH (i) STETHTS RIS
@) ST ATH THATHS AT (i)

() U<l 3fvg IATes ™ 37 Sredr RIGEREET
(C1) I C ) N G 0) B )

(1) iv 111 1 ii

(2) iii  iv i ii

3) i iv iii ii

4 ii iii i iv

Match the pairs.

Books Writer

(a) General theory of employment
interest and money (i) Rosto

(b) Capital (ii) Dadabai Naoroji

(c) Stages of economic Growth (iii) Keynes

(d) Poverty and unbritish rule in India (iv) Thomas Piketty
@ ® (@© (@

(1) iv il i ii

(2) iii v i ii

3) i iv iii ii

4) ii iii i iv

o o [N Y Y o
30. WA JATIPTh HHTSITAT) Sodeh JIRIB hlUTd ATal?

(31) I AT ERIgrdT

) Hohd f2reTor

(ch) HI%hd AT

T 3R

(1) TSUHT T 2) 7, T

3) 9, (4) %<h 3T

Which of the following is not a salient feature of an advanced industrial society?
(a) Adequate social security (b) Free education

(c) Free food
Answer option
(1) All of the above (2) aand b

(3) b and ¢ (4) Only a

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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31, WSS RIOTd/AT [ I 3ed?
(1) Jafther 3T TETET S3MAT AT AT Hey 2.

(2) ITgT R YR dR Ir‘\-lobull“ql SHTATAT HITH IUA FUTdTd.

(3) SeT 37 3Mfor & Ing

(4) TRASURT THET 7 TEN

Which of the following statement is/are true?

(1) Personal income prefers to the income of individuals of a country.

(2) The income at their disposal after paying direct taxes is called disposable income.
(3) Both a and b

(4) None of the above

32.  WISIGUH AT UM siesT.
(37) B T WIOTHTT ITT YTATH &1 Asard,
@) IATET ST st qroiqRaeT o T Aredrd.
@) Sifeseh T9ET TR a1 I §=7d Aiedrd.

(@) IR, BIce AT IBUTAeUT, ATGHIIS TaT AT Jaideh AT ArSdrd.
ERIRIECER

(1) A, & 2) 49,

(3)H, S 4) 3, T, S

Identify the correct statements from following.

(a) Agriculture and mining industries falls into primary sector..

(b) Manufacturing, construction, electricity, water supply falls under secondary sector.
(c) Services based on intellectual property falls under quaternary sector.

(d) Trade, hotel, transport, communication, business services falls under tertiary sector.
Answer Options:

(1) a and c (2) b and d

(3) cand d (4) a, b, d

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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33, WTole U =R =
(37) #FT GDP ARTT 9dMT R 9esh Jod Thidial AsTeal GVA [I=RTa ddaT ST,
@) a1 3T &= GDP et AR 7 fhAdiaT AsToeT GVA fa=amRrd dder s,
TNy [ ST
(1) 7 T T S8 (2) 1 T T =T RS
(3) 3 hth (4) ¥ %h

Consider the following statements.

(a) GVA measured at constant factor price is taken into account while considering sectoral
GDP.

(b) Earlier, for sectoral GDP, GVA calculated at fixed base price was considered.

Identify the correct statements.

(1) a and b both (2) None of a and b

(3) a only (4) b only

34, WIOTGUST Ay faum sfieE.
(37) SIS I TISTUGIATST AT o Sl T FE9eH 2T Tegd =T 9o el
@) . =T &. I AT I IO T AT ITIET T Sal Yegd=T araR el
(@) T AT IIEINAR HRATS aRelg 39 1925 T 1929 AT HIBT 62 B, W
(@) 9 FIeAT UTEUIgER HRATT S8l 3 1931-32 JTSl 62 5. ¥R,
ERIEIICISES
1) 3,9, & Q) 3,9,
(3) B<h & @) T IoT g

Identify the correct statements from following.

(a) To calculate the per capita income, Wadia and Joshi were the first to use the classical
method.

(b) Dr. V. K. Rao used both the method of calculation of production and calculation of
income.

(c) According to Rao's survey India's per capita income from 1925 to 1929 was Rs. 62.

(d) According to Rao's survey, India's per capita income for year 1931-32 was Rs. 62
Answer option

(1) a, b, ¢ (2) a, b, d

(3) Only b (4) b and d

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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35.  WIRATAT AT 39 HISTOTAT YA Wioie [ Sed =i
(37) TTETHTS ARSI AT 1867-68 T YRAT AT IAH 340 hic! a5l
@) ATSAT T ST FAT 1913-14 TATAHT TRATT IS 3T 1689 T MBS,
@) T IAF FHA IR IS HISTOAT HeTes IATET Tegd 0T M I0d Uegd

T

ERIRIISIES
(1) 31, ¥, % TR (2) 3T M7 F SRR
(3) ¥, % IR (4) 37 3T T WIS

Consider the following statements about India's attempt to measure national income.

(a) Dadabhai Naoroji found the national income of India to be 340 crore.

(b) Wadia and Joshi found national income to be 1689 crore in 1913-14.

(c) National income committee suggested the net production method and net income
method to measure national income.

Answer options :

(1) a, b, ¢ correct (2) a and c correct

(3) b, ¢ correct (4) a and b correct

36. IS 3AH OIS,
(37) T N IuTa @it Ianfed Eom=r |9 Sifaq avq 9 99 o 2.

() THT NTIF TS M s FAH, JPT IR T TRERA horasl @ AT HTes

ERIGE e

g 3T

(1) Bh 37 TR (2) Bh § SRS
OEEEKEIR6 (4) T T T Tl a=IER

National income means,

(a) The monetary value of all final goods and services produced within a nation in given
financial year.

(b) It is the total of expenditure by households, firms and government and the value of net
exports in the given financial year.

Answer option

(1) Only a correct (2) Only b correct

(3) a and b incorrect (4) a and b both correct

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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37. WS QI IcATE ST HIUTA?

(3T) GDP Deflator

() GDP Deflator

(%h) GDP Deflator

TR 3N
(1) T T T TR
(3) Tth 3T SRR

GDP Deflator means

(a) GDP Deflator

(b) GDP Deflator

(c) GDP Deflator

Answer Options:

(1) a and b correct

(3) Only a correct

~ Nominal GDP

Nominal GVA
- T x

~ Nominal GDP

Nominal GDP
Real GDP

x 100

Real GDP
x 100

100
Real GVA

(2) 3, & IR
(4) Fth ¥ SRIET

Nominal GDP
- X
Real GDP

100

Real GDP
x 100

Nominal GVA
Real GVA

x 100

(2) a and c correct

(4) Only b correct

T HHTETS! ST /| SPACE FOR ROUGH WORK
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38. (37) GDP UWTT TIaRIHT THOT 3fasTd Zhl g3 i,
() GDP Hob TETET JIFRIT HSATHE MThes ard.

(&) GDP He5 TWTT TIAaRI< ONHSE hes ard.

T faa e

T 3

(1) 37 AT 2) T T F I
(3) 3, 9, % g 4) & T T q

(a) GDP represents the total internal power of an economy.

(b) GDP gives quantitative understanding of an economy.

(c) GDP gives qualitative understanding of an economy.

Identify correct statements.

(1) a only (2) a and c only
(3) a, b, c only (4) a and b only

39. ShaRIh JHMAASA Elole [Su faaRTa =,
(37) HIZTH FHEAT & [T 2w srhr gsitauarar s Regia 1.
@) HAZRA THAT & TS WETZh! S3augreT MY g 3me.
(@) THAIRHI TAFCHT HhedT e IRATT hile T RATSIT M Aol
Tt 3
(1) 31, 9, & I 2) ¥, % I
(3) 3, & AT (4) 3, ¥, & A

Consider the following statements about purchasing power parity.

(a) Purchasing power parity is an economic theory of exchange rate power.

(b) Purchasing power parity is an economic theory of expressing purchasing power of
currency.

(c) Karl Gustav cassel a swedish economist proposed the concept of purchasing power parity.
Answer options

(1) a, b, ¢ correct (2) b, ¢ correct

(3) a, b correct (4) a, b, ¢ incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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40. IAdD AV AT MezhRIT WSS [TUH FeTd =,
(37) GNH HISTOgraETaT 7 31am, 33 el T 3 ATURIAY 3ed.
@) rst e RSt aiTges T 1972 T GNH & HehedHT Jardel.
(@) TS M, M, Teh, AT G, HRGh IV M7 FITER0NT SaT &
4 3TITREAT 37T,

T I
(1) 1, ¥, & I ) I, T I
(3) , &% T (4) 3T, & AT

Consider the following statements regarding Gross National happiness index.

(@) These are 7 dimensions, 33 indicator's and 3 pillars to measure GNH.

(b) GNH concept was proposed by King Jigme Singye Wangchuk in 1972.

(c) Good Governance, sustainable economic social development, cultural preservation and
conservation of environment are four pillars of GNH.

Answer options

(1) a, b, ¢ correct (2) a, b correct

(3) b, ¢ correct (4) a, ¢ correct

41, FHEF FifHH HATAATT GIAGIR BT D ATer?
(37) Firhl Fdid fohaias Ja—a% ol
() ATHHT ATTH TIR FROT T BRL HROT.
@) IS FH TR HIT.

@) s 7 " FEsT 9 FEsAde 9iRer e,
T 3N

&% 2) S &
()RS @ s, 3

Which of the following is not the work of central statistical office?

(a) Co-ordination in statistical activities

(b) Formulation and application of statistical standards

(c) Preparation of national accounts

(d) Collecting consistent statistics regarding agriculture

(e) To measure consumer price index.

(f) Economic and social planning and strategic formulation of planning.
Answer options

(1) b, f @) d, f

(3) b, e 4) d, e
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42. WO [TU HeTd &L
() STHERI 2000 T G, VRIS AT FTTAEST 3G FiRSAdhl 0T wishad
GIfRETOT FHRUGTATS! SRINT T FHRUATT 3TTHT.
@) T N RIAREAER S5 2006 &7 UfgedT WiRAHhr ST WTOHT SHRoard ST,
@) IS TS AN Uieey 3redeT Al TR 7 2.
(@) TcseT ThaT ITOTadSs & 9T TR 37287 3.

AT 39
(1) 31, § g ) ¥, & T
(3) &, T TT 4) 7, T I

Consider the following statements.

(@) In January 2000 a commission was set up under the Chairmanship of C. Rangarajan to
review the statistical census process in the country.

(b) Based on the recommendation of this committee the first National Statistical Commission
was formed in July 2006.

(c) First Chairperson of National Statistical Commission was C. Rangarajan.

(d) Chairperson of NSC should be economist or mathematician.

Answer options

(1) a, b correct (2) b, ¢ correct

(3) a, d correct (4) a, d correct

43, RATAIG ST 3T ATIATAG TRAT GTAGUDRT HIvTT?

(37) ARATI ATedTdle el @) Hafed AT A STRRAT
@) T FReRar @) Fezrde ot I
ERIE NG

() 3, &, h, S 2) 3, 9, %

3) 9, 4) 3, &h, €

Which of the following are problems in national income measurement in India?
(a) Real information caveats (b) Large size of organized sector
(c) Financial literacy (d) internal errors in indexes

Answer options
(1) a, b, ¢, d (2) a, b, ¢
(3) b, c 4) a, ¢, d
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44,  JMURTSET YPY shH ATdT.

(1) TSI - HEl - GRIROT - A% (2) el - TSI - GRIROT - A%
(3) TSl - GOROT - "l - T (4) TIAROT - Hel - Sl - TR
Correct sequence of business cycles is?

(1) Inflation - Depression - Recession - Revival

(2) Depression - Inflation - Recession - Revival

(3) Inflation - Recession - Depression - Revival

(4) Recession - Depression - Inflation - Revival

45. AT FEI0r F IR FasdT Wiiey fora™ Serd =@ .

COERIESIRIER] @) T HeT IR

() TSGR F[ATAT FIAT ATl @) Fafa e, smard ged
OKIEERENEREE NG

T I

(1) o, &, € I (2) H, ¥, &, T I°g

(3) 3, &, T AT 4) 3, 9, &, 3 I

Consider the following statements about depression symptoms and effects

(a) Production stops (b) The value of currency improves
(c) Interest rate goes below zero (d) Export increases, import decreases

(e) Severe unemployment is experienced
Answer option
(1) a, ¢, d correct (2) a, b, ¢, d correct

(3) a, ¢, e correct (4) a, b, ¢, e correct

o o o o o
46.  DIES-19 HEMREAAITAT hldld HRATd Wl[dYenl shivTd THATT T AT)?

(1) U - shaped recovery (2) V - shaped recovery
(3) \ Shaped recovery (4) L - shaped recovery
After Covind-19 which type of recovery is addressed in India?

(1) U - shaped recovery (2) V - shaped recovery
(3) \ Shaped recovery (4) L - shaped recovery
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47. AR SIISAT 3ATAdT.
NSSO = farsmr AT TSHTT
(3N I=< e 7 Raw - hIcheRT
@) =TT ERRT - HRIEEE
@) Ttheg ATIEM - fegr
OEEEREREIEERCEIR o E sl
TIRT I
OEEERIw Q) FIF I
OEEERIE OEE R
Identify the correct pairs.
Department of NSSO Headquarters
(@) Survey design and Research - Kolkatta
(b) Data processing - Faridabad
(c) Field operation - Delhi
(d) Coordination and publication department - Kolkatta
Answer options
(1) a and b correct (2) b and c correct
(3) a and c correct (4) b and d correct
48. ¥ B IS ASTAMT WISIAUhT HITAT Teehial THTSIT HAT ST ATar?

OEEIREEIERER]

(2) qETI9T SN FTER

(3) ARG T, AT [ehIT AhedT a¥ T Waid gxAidRv]

(4) YR T

Which of the following items are not included while measuring the Gross National Product?

(1) Illegal activities

(2) Purely financial transactions

(3) Transferring of used goods and non market goods and services.

(4) All of the above
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49, I IUAEES WISIAUhT hioTd [T Tg 31e?

(1) JTTheh Iq= 3NOT W8T FRIATS BRATST TIETT Iq BT,

(2) WIERTT 3 30T YL TS BRI TITH Iqd FoTdTd.

(3) Jafcheh TS 3O TTTLT TR HRABIAT FIGTH Ide TUTdTd.

(4) WTERTT 39 30T T8 TS BRBIAT TITH I FOTdTd.

Which of the following is true for Disposable income?

(1) Disposable income is the difference between personal income and direct taxes.
(2) Disposable income is the difference between private income and indirect taxes.
(3) Disposable income is the difference between personal income and indirect taxes.

(4) Disposable income is the difference between private income and direct taxes.

50.  WTHIGUDT HIOT [TaT v TIeraee= AT Ia?
(1) SR rfereaRaT & STITTRI=AT 33 bR 3MTE AT Y21 YRFaT &7 IOI0T IRBRETY
BRIEGIETRSIGIA
(2) STeRA TIHERAT & FTIHIRYAT 72T UHR AR AT AT AT g0t 5§ 37
(3) TR TUHERAT & FUFRYTAT 312 YHR ATe AT e [IagRaer .
(4) ST STIHERAT &1 TYHTIAT I3 Yeh1X 3ATe SATd ST 20T ATT hodl ST AATa.
Which of the following defines a closed economy?
(1) A closed economy is a type of economy where the money supply is totally controlled
by government.
(2) A closed economy is a type of economy where neither - exports nor imports takes place.
(3) A closed economy is a type of economy where deficit financing takes place.

(4) A closed economy is a type of economy where there are no exports to other countries.
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